
~:ihrfr't,fk~-102 *lfli~-~~JJ IJJ*-~ jij#~lf-t& it~#~~ 
1&ffl: ~.x.., ~.x.. ... t-ht, Jl~ *~iif11!.ffltt#.#l ~$~t~te...ff.-tMJ:.,~1tt 41 ,t&jlJj~~ 60,t& 

41. 6 14=-~ ~ ff.J~#J-$}~ A .. B , C E... A. ' ~!>t~ A .f.Y 7}~ 114=-ff.J ~i!-~ ~~? (A)504 (B)665 (C)683 
(D)726 o 

42. 10 14=-.ffl MJJt.Ji\-1£:t7}~ 4-fiJl.:t '4ij:-A..f.Y~ 1 f-t-ff.J7}ik~ ~~? (A)72 (B)84 (C)96 (D)l20 o 

43. :ilt- (ax' + :, J iJIJ ,a llll A .P • :, iJIJ ~tU, 80 • M a= (A)4 (B)~ ( C)2 (D) 2.J2 o 

44. f ' ~ ' ~ .. T .. ~ ' G .. ]Jt-t: A..fJ~~- ~~J o * f ' ~ .. ~ .. T tm A.!)&.fJ~..(f.Jl:l:.~'J {{.J J1{ ;1tl tiJ tm{j!. • 1L f .. ~ 
~{~ M • Jt11 ~-t: A.*'~} y ~.tJ~ik? (A) 36 (B) 72 (C) 144 (D) 840 , 

45. ~ p;+z = 12oc:+2 
' M n =(A) 4 (B) 5 (C) 6 (D) 7 

46. f .. ~ .. ~E...A.~-fi.- i: '4i:-7t~j\~Jt- A.tr.tf·· t;:t.;f<...(f.E...Jt t • ·!*M-4i:-A.~tr.ff-Jtff.J;flif:.~ (A) 
4 
9 

5 1 2 
(B)- (C)- (D)- o 

18 3 9 
47. ~1Jz\ifr~ J3 ·ti 40% .. -:!t-11: 60% • x~M 11: t ~ 50%, -:k-·1'! 'f ~ 30%~~ • ~1£3!-~~;;i- • Jtit M ·11.€f.J:#tif:. 

k (A) 10 (B) 10 (C).!.!_ (D)~ 0 

17 19 17 19 
~- -At~3·k*'5•~*·~-E...~~~-'f~ili--(~ili·~~oo)•Mffl-ili*t~2k*€f.J• 

·~ (A)~ (B)2_. (C)~ (D)~ o 

56 56 256 256 
49. ~• t •~ 5o :7t.Ait 'f 3 *i-&. 10 j(.Jit 'f 7 *i , A-ii=-~J>t. ~~~m €f.J#l1fl~ ~ o ~~ A.l?l ~fk t ~ *~~ 2 

ft~1f·MJitA.fflff~~€f.J~~1i.J\§Y:7t? (A)20 (B)36 (C)44 (D)50 
5o. -fk t ~ 4 ~*. 3 ~ * , 2 .w.* , + ~ ~ t ~ IP.f~m 3 * , ~**:ti-m €f.J.#lif:..ffl st= , Jt 1l~m 3 *~ ~ 

{f.J~if:.~M? (A)2_ (B)!!_ (C)Q (D) 37 . 
. . 84 84 . 84 84 

51. ~~-t'FA.~ 1 fW~iP 13 ft.JJ!tlt$ '%-~ffl §} 't~~~-'f '4ij:-J% 100 .£~-~~~·tl*-' ~~.tl~i!-
~M? (A)AA-'l~A~~tlik (B)*~~{li!- (C)7}Ji&i.#l{lhtli!- (D)~Nt{lh{lik ..,. 

52. +5i .. ,l,SJl .. '1'*-~1¥-~mr*h iJt1~, ~E-A.€f.Ja 'lt'Ja'l)-_g,J~ 50 .. 30 .. 20 • J!f"f?1JttM£M;f- if-4.? 
(A)E...A..hn~*-ff.J -1)-k 100 7} (B)'l'iJt €f.J ~*lit* . (C)'l' 5i .. -'l' aJl €f.J~'ltl~ ~ 30 1t (D)'l' aJl ~~* ~ 
,J .. 5i.£ 

53. ;ff- ill~ tltl*- 'f;jq-J!; : 88 ' 77 ' 84 ' 72 ' 82 ' 64 ' 66 ' 86 ' 95 ' ~~Jjt tm'l}{j!.JE~1iiJ ? 
(A)17.5(B)l8.5(C)18(D)l9.5 

54. ~~-m'f*tx1 ' x2 • x3 'x4 ' x5 ft.J~$.£~ 3' .J.#t~~-~ 18' ~~Ji7l'-a'f;t42x1 -3 • 2x2 -3' 

2x3 -3 '2x4 -3 '2x5 -3€f.J:tl-'-.£ l~a '~*t~~:it~b '.R1b-a=? (A)l7 (B)21 (C)25 (D)27 

55. ~-Ill S!Jmil~tt~~ 3x+4y = 23 ' ~*'Ill~~~ ( -2,1) ' JtlJ#JJ5~ (A) (1,5) (B) (9,-1) (C) ( -3,8) (D) (5,2) o 

56. ~Ill c ~~tt~~ x2 _+ y 2 -6x-4y+4 =0 'Mr~'I~~*-l~tr.J Ill*} '1iiJ;;i-lt.lll C ~m? (A)3x+4y-1=0 
(B)3x+4y-7=0 (C)3x+4y-2=0 (D)3x+4y-14=0 o 

57. tJ. y+6=0 ~-*"~' F(2,0) ~~,J5ft.J~#Jit~a~~ (A) x2 -12y-4x-32=0 (B)x2 -6y-4x-16=0 

(C)x2 -12x-4y-32=0 (D)x2 -6x-2y-16=0 o 

58. ~!J)4x2 +9y2 =36 'r ~'Hi7J;f-~if--'t? (A)if-~~.UCJ\! (B).UC.;dt.UC~ 6(C)~J5~ ( O;±.JS) (D)9ia-ts.UC.»; 4 o 

59. :ilt-!t dHiliJIJ~ Ri.J&il. ( -4,0) , ( 6,0) .& -l:liJ&il. ( 4,0) • I!~T Jtl-,- J&-(Ht.!t dUf_J:.? (A) (-~ ,3) 
(B) e: ,4) (C) (5,5) (D) e; ,6) o 

60. ~~ dbitH : 9x2 -4y2 -72x+8y+176 =0 ' Jt11r~'1AilM;;i-k~tlbitH tr.J>tf311J!? 
(A)L1 : 2x+3y-14=0 (B)Lz : 2x-3y+10=0 (C)~ : 3x+2y-14=0 (D)L4 : 3x-2y+l0=0 o 


